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A dealer quotes the price of a commodity as 10000.00 plus sales tax at the rate of 5.00% . Find the amount that
a buyer has to pay to buy that commodity.

(i) 10501.00 (ii) X10502.00 (iii) X10498.00 (iv) X10499.00 (v) X10500.00

The list price of a commodity is ¥9000.00 and the shopkeeper gives a discount of 18.00% . On the remaining
amount, he charges 2.00% sales tax. Find the final price the customer has to pay to the shopkeeper.

(i) X7525.60 (ii) X7527.60 (iii) X7529.60 (iv) X7528.60 (v) X7526.60

3. If the marked price of a commodity is 10000.00 and the rate of sales tax is 10.00%, the sales tax =
(i) ¥1000.00 (ii) X1170.00 (iii)) X720.00 (iv) X1220.00 (v) X850.00

If the marked price of a commodity is ¥13000.00 and the rate of sales tax is 10.00%, the selling price including
sales tax =

(i) ¥13600.00 (ii) X14800.00 (iii)) X14300.00 (iv) X11700.00 (v) X16700.00

5. If the price of a commodity inclusive of taxes is X16640.00 and the rate of sales tax is 4.00%, the marked price =

(i) X16600.00 (ii) X16000.00 (iii)) X¥13400.00 (iv) X15200.00 (v) X18500.00

If the marked price of a commodity is ¥8000.00, the rate of sales tax is 4.00% and the rate of discount is 11.00%,
the sales tax =

(i) X282.80 (ii) X284.80 (iii)) X299.80 (iv) X270.80 (v) X290.80

If the marked price of a commodity is 20000.00, the rate of sales tax is 8.00% and the rate of discount is 8.00%,
the selling price =

(i) X18200.00 (ii) X19200.00 (iii) X16900.00 (iv) X18400.00 (v) X19700.00

If the price of a commodity inclusive of sales tax is X6921.60, the rate of sales tax is 3.00% and the rate of
discount is 4.00%, the marked price =

(i) X7250.00 (ii) X7000.00 (iii) X7060.00 (iv) X6740.00 (v) X6820.00

If the price of a commodity inclusive of sales tax is 15454.80, the marked price is ¥18000.00 and the rate of
discount is 19.00%, the rate of sales tax =

(i) 7.00% (ii) 5.00% (iii) 4.00% (iv) 8.00% (v) 6.00%

The price of a commodity inclusive of sales tax of 17.00% is X1872.00. If the sales tax is decreased to 11.00%,
how much the customer has to pay ?

(i) $99.00more (ii) X96.00less (iii) X96.00more (iv) ¥93.00less (v) 99.00Iless

10.

A shopkeeper buys a product at a discount of 2.00% from a wholesaler. The printed price of the product is
11. X19000.00 and the rate of sales tax paid is 8.00%. The shopkeeper sells it at the printed price and charges tax at
the same rate. Find the VAT paid by the shopkeeper.

(i) X32.40 (ii) X29.40 (iii)) %30.40 (iv) X31.40 (v) X28.40



12.

13.

A person buys the following items from a departmental store : beverages of worth 1000.00, grains of worth
X1000.00, fruits of worth X800.00, electronic goods of worth 1800.00. If sales tax is charged at the rate of
8.00% on beverages, 2.00% on grains, 5.00% on fruits, 6.00% on electronic goods, find the total amount to be
paid.

(i) X4618.00 (ii) X4798.00 (iii) X4978.00 (iv) X4968.00 (v) X4848.00

A person wants to buy a commodity which costs X2071.00. The rate of sales tax is 9.00%. The person tells the
shopkeeper to reduce the list price of the commodity such that he has to pay only 2071.00, inclusive of sales
tax. Find the reduction needed in the price of the commodity.

(i) X154.00 (ii) X177.00 (iii)) X143.00 (iv) X197.00 (v) X171.00
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